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Question

I am unable to understand why %Uﬁ% iS mansib in:
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Fadilat al-Shaykh Dr. V. Abdur Rahim (:‘m aki>) replies:

This 3\ is called 3\—:-0-05\ Vs, and the mudari following it is mansib

because of a latent O, e.g.

no

The meaning is:
Do not eat fish along with the act of drinking milk.

This construction does not prohibit you from either eating fish or drinking

milk. It prohibits you from combining these two acts.

But if we say:
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The meaning is:

Do not eat fish and do not drink milk.

It is a prohibition from both these acts.

Here is another example of FPAL 3‘) The poet says:
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Do not prohibit (people) from a habit while you yourself are practicing it.
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The mudiri‘ mansiib in this construction is a J 9 » )v\-.a-o

In the first example:
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The taqdir is:
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which is equal to:
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In the second example:
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the taqdir is:

which is equal to:
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In the ayah there is i,-d (a wish): s 4
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The meaning is:

How we wish that we are returned to the worldly life once again along with our
determination not to deny the message, and our desire to be believers.

I hope this answers your question.

abdur rahim



